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6 OstwaldFarben (o)

von maximalem (m)C,g im
linearen Farbenraum (Cyg Y)s
Lichtart P45, Y,,=100 ¥, =0 B .'
Name Bereich X,

R, 572_775 6626 39.05 1o e 0arbs a0 5O
V) 4977758688 94.74 435 04671 0.5094574 467
G, 497572 2081 55.88 431 02569 0.6898 541 5alc

C, 380572 3313 61.14 76.02 0.1945 0.359 492 600 Parameter:
B, 380497 1252 545 7186 01393 0.0607 467 574 Y & Name
M, 572_497 78,58 44.31 7191 0.4034 02274 541541 i
572 ¢
W,,380_775 99.2 100.0 76.07 0.3603 03632 100% Lichtart P45
N, 380_775009 01 007 03602 0.3631 0% Y,,=100 Y, =0

7, 380_775 1785 180 1369 0.3603 0.3632 18%
BGF0O1-4A




